



BIDS AND AWARDS COMMITTEE

Bid Bulletin No. 2 for 7th PB CY2024

1. (REBIDDING) LFOS SUPPLY AND DELIVERY OF PICK-UP VEHICLE FOR CY2024

Exterior & Interior	Side Step Board
	Cargo Bed Liner
	Cargo Bed Top Cover (hard plastic with damper)
	Sports Bar
	Over Fender
	Tinted Glass (light black)
	Adjustable Headrests
	Deep-dish Floor Matting
Power Features	Power Windows
	Centralized Door Locks
	Power Fold and Adjust Side Mirrors
	Remote Car Lock System
	Manufacturer's Standard
Lighting	Manufacturer's Standard

2. (REBIDDING) SUPPLY AND DELIVERY OF LS ICT EQUIPMENT FOR CY2024

None

3. (REBIDDING) SUPPLY AND DELIVERY OF PAOS ICT EQUIPMENT FOR CY2024

None





<u>4. SUPPLY, DELIVERY, AND INSTALLATION OF VARIOUS ICT SOFTWARE SUBSCRIPTION UNDER THE NEECP AND AFTOP</u>

No.	Item	Unit	Unit Price	Qty.	Total
1	Video Editing Software	License	7,000.00	17	119,000.00
2	Adobe Creative Cloud Pro for Teams with unlimited Adobe Stock standard assets	License	90,000.00	18	1,620,000.00
3	Google One Premium	License	8,000.00	6	48,000.00
4	PDF Document Editor - Acrobat Pro	License	25,000.00	65	1,625,000.00
5	Zoom Workplace Pro, with add-ons; 1000 participants, Zoom Scheduler	License	70,000.00	15	1,050,000.00
6	Computer-Aided Design (CAD) Software	License	120,000.00	2	240,000.00
7	Technical Writing Assistant	License	15,000.00	21	315,000.00
8	Stock Media Asset	License	20,000.00	3	60,000.00
9	Media Presentation Software	License	7,000.00	11	77,000.00
10	Media Animation Software	License	35,000.00	3	105,000.00
11	Prompt Based Content Generating AI	License	20,000.00	3	60,000.00
	5,319,000.00				

<u>5. SUPPLY, DELIVERY, INSTALLATION, TESTING AND COMMISSIONING OF MULTI-PRODUCT CALIBRATOR FOR CY 2024</u>

Multi-Product Calibrator (Fluke 5540A)

 The main unit of multi-product calibrator does not include the option for oscilloscope calibration capability. However, the calibrator should be upgradable to scope calibration up to 600 MHz.





6. SUPPLY AND DELIVERY OF SPECTROPHOTOMETER FOR CY 2024

None

7. SERVICES FOR THE DEMONSTRATION PROJECT ON PROMOTING ENERGY-EFFICIENT AIR-CONDITIONING SYSTEMS FOR THE DOE BUILDINGS UNDER THE GEMP

None

With the lifting of the COVID-19 restrictions, the bidders are encouraged to personally witness the proceedings for the Opening of Bids or in case you have related constraint it could be witnessed through video conferencing via MS Teams platform. In preparation, you may download the app in advance to witness the proceedings. Bidders and observers may submit their intent to participate with the following information such as the nominated email address to bacsecretariat@doe.gov.ph

This Bid Bulletin forms part of the Terms of Reference. All other terms and conditions in the Bid Documents and other Bid Bulletin issued by the DOE-BAC not consistent with this Supplemental/Bid Bulletin shall remain valid and effective.

Approved for Issuance:

(sgd)
GIOVANNI CARLO J. BACORDO
Undersecretary and
Chairperson, BAC

DEBM/jjad



